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0 & 24
SR 44,2008 » 3F » 230 30,498
oxFd 44,2002 » 3H * 46 6,100
cHXtY 44,2003 » 3% » 11 1,459
clEZEEE 38,057,000& * 1.95% 743
oMIEE = 38,057,000& * 6.5% 2,474
OJIE SAIAISE 22X 250,000,0003 * 14 250,000
201 Et2dd| 111,782 98,450 13,332
01 AtR2tel 23,500 21,450 2,050
Ogel=gH| 16,000
o2l sO0lAld et HAL =8
625,0008 * 2474 A 15,000
SRAAM FIIQA DY 242
200,000& * 5JH A 1,000
O/ n=| 500
o el 0I=0lAlE A Zte] W=
250,000& * 23 500
Oodxt= 7,000
oZdz2tel FHl YX= 500,000& = 43| 2,000
o QAAMAZZ X SEUIXI XXt
500,000& = 10& 5,000
02 2244 88,282 77,000 11,282
O232= ¥ HAl 45,032
o2& & -5tk 2= 1,200,000& * 12& 14,400
o2& NI 2= 24,000,000& » 14 24,000
oZd St 2= 11,000& = 12& 132
oz Xl 125,000& = 43| 500
o020l s0lAIE APDHHA MUBEZ
6,000,000& = 14l 6,000
OAEZHIS X 43,250
cdBAUR X2 EY
35,000,000& » 14 35,000
oXtg & Al &FHl |FHI
687,500& « 122 8,250
206 M= 4l 160,000 150,000 10,000
01 MHZ 4l 160,000 150,000 10,000
Oz32el 2&+==2 & 30,000,000& * 14 30,000
O3z M= 2L 130,000
oz 522 MB(BI HIZ,LHS)
80,000,000& * 14 80,000
o0El0l =0IAME 2=t 2
50,000,000& * 14 50,000
305 =S 5,000 5,000 0
o1 tia=s 5,000 5,000 0
Ozolltia = 5,000,000& = 14l 5,000
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A= HeEH= 2M 0 SAICIACI
M OIS0 TAZS ZE(2ELXNEINL/XNAL Al
Ol TAIBH M - 22 (&te @2
_ _ bSNE =
A= .25 - F3H .S () - MBAIY - BES 0] Ao @;OH Hl =2
405 XFAHE SHI 5,000 0 5,000
01 AHAHY 2 EF SH| 5,000 0 5,000
OW=Dl & JIHE =< 500,000 = 10CH 5,000
a3 X4 800,000 700,000 100,000
401 Al & HI L 2 HH 800,000 700,000 100,000
01 Al&H] 795,000 690,000 105,000
Ogs=e =4 795,000,000 * 102 795,000
03 A& 201 5,000 10,000 25,000
ogaze x4 5,000,000 * 14l 5,000
CAZS B OIEYE 2XBA 300,000 0 300,000
401 A& H 220 300,000 0 300,000
01 Al&H] 300,000 0 300,000
OZA22 &) 08 X 24
300,000,000 * 14l 300,000
CAIEBRY X4 - 22 223 4,270 4,270 0
202 04 Hl 4,270 4,270 0
01 2L 04 bl 4,270 4,270 0
OEAM22 X4 =T 0Hl  4,270,0002 * 14 4,270
CAZEY 2 2,650,270 2,589,270 61,000
OF2tE 2 EAALY 70,000 100,000 230,000
401 A& H 220 70,000 100,000 230,000
01 Al&H] 69,000 98,000 229,000
OAZE 20K 22XYH &X
69,000,000 * 1Al 69,000
03 Al& 20HH] 1,000 2,000 A1,000
OAZE 20K 22XH &X
1,000,00084 * 1Al 1,000
CRIM L st=( 2 II2S ME AIY 50,000 162,000 A 112,000
401 A& HI L =20 50,000 162,000 A 112,000
01 Al&H] 49,000 160,000 A 111,000
OZ2Hd JI2s &1 49,000,000 * 14l 49,000
03 Al 201 1,000 2,000 21,000
OMN2E &% 20| 1,000,0008 * 1Al 1,000
SHS otalg A9 U =SAS 100,000 100,000 0
401 A& HI 220 100,000 100,000 0
01 Al&H] 98,000 98,000 0
Oz - Bots ME2IISHS)
98,000,000 = 14l 98,000
03 A& 201 2,000 2,000 0
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A AL8E3 2AM  ZTAICIXFCI D
Y OS2 SANZEE ZH(2ELXNGMNL/XNALEAI
Helr TAZE 22 (ctel &
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
== ° T R B i o ) : - =5 T uS = &= 04| AFOH U=sa
OJtz - BotS 4AlE (21188 S)
2,000,000& * 14 2,000
THAEE KA 22 2,146,300 1,871,000 275,300
201 LB2IH| 1,500,000 1,220,000 280,000
02 3329l 1,500,000 1,220,000 280,000
O0322= % HA 1,500,000
o223 28 dMI|lg  750,000,000& * 14] 750,000
ogiE Bots MIg
700,000,000& = 14] 700,000
ocZ&XY NMIIZ 50,000,000& * 14 50,000
401 AIEBIZ 20HYI 645,300 644,000 1,300
01 Al &l 625,300 624,000 1,300
OZ& ZGANE2 RAES
500,000& * 50JH £ 25,000
Otz - B¢t #XE=+ 420,300
otz - Bots #HIE W
45,000& * 3,340 150,300
otz - 2ots orED| Wi
50,000& * 1,200 2 60,000
otz - Bots I+ WA
500,000 * 300JH & 150,000
ocIJtZ - Bots BEZJ| uA
100,000& * 50094 & 50,000
ocltgs ZHEEMC AIX WXl
100,000& * 10094 & 10,000
OL=Z JI28 &H| 5,000,000 = 10902 50,000
OFIItEBAL HAW OE JI28 & ML
2 5,000,000& » 12942 60,000
Oosots E& &l 10,000& * 2,0000H 2 20,000
Oizs )| B+ 2,500,000& * 2004 & 50,000
03 Al 201 20,000 20,000 0
OXYGANEES7 N 2el 2]
20,000,000& * 14 20,000
405 KHaHFE S| 1,000 7,000 A6,000
01 AtMtE =2 EF S 1,000 7,000 26,000
OZA MegH - 1,000,000 * 14 1,000
ST XA 129,700 102,000 27,700
307 212H0| & 129,700 102,000 27,700
02 It B AB X 129,700 102,000 27,700
O3S 2ots &Iz XA
119,700,000& * 14 119,700
OzZExe ZBZY ®JI2 N
10,000,000& * 14 10,000

_15_




0z N>
J2

Agea
L OIBOE EAZE X
D EAEY ﬂ_ra

MNuE o
SN CHIRAY - BaS i {imE=Eh
2ol DESE SIS TAIOFE KA 100,000 200,000 A100,000

401 Al &2 B2 OB 100,000 200,000 A100,000
01 Al &bl 100,000 200,000 £100,000
OJ2 - Bots =& & HEAY
200,002 * 5005 100,000
2 HE HUIAY 50,000 0 50,000
401 A2 HIL 20| 50,000 0 50,000
01 Al& Y] 50,000 0 50,000
OJ2E HE Y| 50,000,008 * 14! 50,000
SAZEEE 2B 4,270 4,270 0
202 01t 4,270 4,270 0
01 =L O bl 4,270 4,270 0
OZAZZ 22l AIZEZ Oft]
4,270,000% * 14! 4,270
B2 He - B 230,724 275,632 ~44,908
C2H 2208 FNE S8 &3 50,000 100,000 50,000
401 A2 HIL 2T 50,000 100,000 A50,000
01 Al&H| 49,000 99,000 250,000
OZ2¥ 220I8 Serax
49,000,0008 * 14! 49,000
03 Al& S CHY| 1,000 1,000 0
OE2d 220/8 PN
1,000,008 * 14! 1,000
drIET L ANES 2 126,454 121,362 5,002
101 Q1214 36,864 35,862 1,002
PN EES =P 36,864 35,862 1,002
ogwzne I 25,372
oJl23 44,2009 * 2% * 2302 20,332
oFE4Y 44,2008 * 2 * 462 4,067
xRS 44,2008 * 2% * 112 973
O S0S 212 MY X 11,492
o BUZNS FAFH ALY
44,2008 * 202 * 1BHSHE 11,492
201 L2 Y| 6,590 6,500 9
01 ALR eIt 5,000 5,000 0
SETIER=1 5,000
CATHUNY B2 HE
1,500,008 * 23l 3,000
c2HBNES FY 4A2E 7Y
2,000,0008 * 14! 2,000
02 ZZ=2YL| 1,590 1,500 9
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A= AMEZR SA L EAICIXRO D
HH: OIE0E SAYR EH(FELNANL/NALEA)
202 He - 2el (25l &2
- _ _ Muo
= - 2M - 33 (3H) - MEAMY - BES Off &F K Ofl At ot Hws2
SEEEEERL 1,590
cEYTNES FH HYBEE
300,0002! * 53 1,500
CESM 2R U YAEY £42
90,0002 * 14} 9
307 21201 & 28,000 24,000 4,000
05 BIZtSIEr S 28,000 24,000 4,000
O=2BDNS AFET A 7,000,002 * 43l 28,000
401 Al&HI L 2 THY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OBLUANAL RH & 24
10,000,0008 * 572 50,000
405 Xt &HE St 5,000 5,000 0
01 MU SBHSH) 5,000 5,000 0
OXtet o 2B SH) 5,000
cEHTIS Il BH 7Y
500,000% * 1074 5,000
A8 SBAAT - HAIH ME &AL 50,000 0 50,000
401 AlEHI L 2 THY| 50,000 0 50,000
01 Al&H] 49,000 0 49,000
OAS SBAHAB - HAG M= LA
49,000,0002 * 14} 49,000
03 Al& 2 ChH] 1,000 0 1,000
OA8 SBAHAB - HAG M= LA
1,000,0002 * 14 1,000
ZD2 N - 22l 2B 4,270 4,270 0
202 04t 4,270 4,270 0
01 2UHOTH| 4,270 4,270 0
O BIHSAIY AIBEZ Ot
4,270,000% * 14! 4,270
Y2 YA (SAICIXI D) (OIEHIIE) 26,928 28,300 A1,372
Jl= 2| 26,928 28,300 A1,372
o= 2| 26,928 28,300 A1,372
201 YEr2gy| 15,128 16,500 A1,372
01 At 22|t 15,128 16,500 A1,372
Ogsrag| 6,420
CHINPRE 200,008 * 53| 1,000
OMNRIINLDE 400,008 * 102l 4,000
cARR AT 700,000 * 144 700
cM2TSE 15,0002 * 4% * 128 720
OJIEt+2H| 428,008 * 14 428
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0z N>
J2

3 Al

A

20
B
2

33,152,080 40,637,576 N7 ,485,496
= 2,512,772
2 4,183,000
[= 513,100
Al 25,943,208
CRUSY SHE(x=34D 11,511,650 9,506,000 2,005,650
= 407,000
= 769,000
[= 442,100
Al ,893,550
ZE € SHE T24M ,862,000 2,102,000 760,000
[~ 200,000
Al ,662,000
SHECR A4H01ESH (7 2) SIEDA 300,000 0 300,000
401 A& HI 2 20| 300,000 0 300,000
01 Al&H] 298,000 0 298,000
OSHESZ HAHUIS N (RA~AE ) S TTE
298,000,000 * 14l 298,000
03 Al 20| 2,000 0 2,000
OSHESZ HAHIS M (RA~AE )BT A
2,000,00084 * 1Al 2,000
SHETR 206 & A 2 SIXDA 200,000 0 200,000
401 A& HI 220 200,000 0 200,000
01 Al&H] 198,000 0 198,000
OsHETZ ML M (B8 AR ) ST A
198,000,000 * 1Al 198,000
03 Al< 20HH] 2,000 0 2,000
OsSHESZ HAM065M (B AR Z)E A
2,000,000 * 14l 2,000
SHECR =210184d Ab 200,000 100,000 100,000
401 A& HI L =20 200,000 100,000 100,000
01 Al&H] 200,000 100,000 100,000
OsHEZZ =210 S &
200,000,000 * 1Al 200,000
SHAZ14EH =28 100,000 0 100,000
[= 50,000
Al 50,000
401 A& H L 20| 100,000 0 100,000
[= 50,000
Al 50,000
01 Al&H] 99,000 0 99,000
OSHANZ14EN T2 TR
99,000,000 = 14l 99,000
[= 49,500




A= ALEAR SN AL
I CRUSY AF(+3LUS/E2)
2 ¥ s0E S22 cel )
_ = AT
=N -3 SAGAH) - AFAY - BES Ol A o8 Hns2
Al 49,500
03 Al =T 1,000 0 1,000
OSUANZUEH T2HEY
1,000,0002 * 14! 1,000
= 500
Al 500
& Y SOHECE SEFBDA(TI20454) 300,000 400,000 £100,000
401 AlEHI L2 300,000 400,000 £.100,000
01 Al&H] 297,000 390,000 93,000
ORELSHETRHIZ(TE045H)
297,000,0002 * 14! 297,000
03 Al& =T 3,000 10,000 A7,000
OPELSHETRHIISAH(TH2045H)
3,000,000 * 14| 3,000
SHEZZ 2HI01SH IMNRIISA 120,000 0 120,000
401 AlEHI L2 120,000 0 120,000
01 Al&H 120,000 0 120,000
OsHEEZZ PII01sH IHRIIBA
120,000,0008 * 14! 120,000
SHETR HA0156 INRIIBA 100,000 0 100,000
401 AlEHI LS LI 100,000 0 100,000
01 Al&H 100,000 0 100,000
OsHEZZ Ha01sd (&) IN 2RI
100,000,0008 * 14! 100,000
SHAGESH 2E U8 TEZHILFDA 300,000 0 300,000
401 Al EHI LSO 300,000 0 300,000
01 Al&H 300,000 0 300,000
OSHAEsSH 25 o3 C2R Y
300,000,0002 * 14! 300,000
SHETE AH2035H T2HESA 300,000 300,000 0
401 Al EHI LSO 300,000 300,000 0
01 Al&HI 297,000 300,000 ~.3,000
OsHEZZ AH2035H C2IH4A
297,000,0002 * 14l 297,000
03 Al& =T 3,000 0 3,000
OsHEZZ AH2035H S22
3,000,000 * 14! 3,000
SHETZ (20035 46) SHLIBA 200,000 200,000 0
= 100,000
Al 100,000
401 AlEHI LSO 200,000 200,000 0
= 100,000
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0z N>
J2

ALBA= SN AL
CE2NEY HE(+SLWE/E2)
2C 2 50E CSEHA

= - 2M - 33 (3H) - MEAMY - BES

22
J2

=1
R
121

Al 100,000
01 A& H] 200,000 200,000 0
OsHEEZZ (241035 )& E
200,000,000& = 14| 200,000
S 100,000
Al 100,000
SH SUHAIEZ 2= JHESA 240,000 0 240,000
401 AIEHIZ 2 THYI 240,000 0 240,000
01 A& H 240,000 0 240,000
O=H SUANEZ A& N
240,000,000& = 14| 240,000
TE b5 HEINE SAt 200,000 0 200,000
401 Al BIZ S THYI 200,000 0 200,000
01 Al H] 200,000 0 200,000
Ozt b=ad HdEIME SA
200,000,000 * 14! 200,000
HAYE TAHECSE HESA 200,000 0 200,000
401 Al EHIZ 2O Y| 200,000 0 200,000
01 Al£Hl 200,000 0 200,000
OEZEE TAMHE T2HE SAt
200,000,000 * 14| 200,000
sz 2= EH MY 100,000 0 100,000
S 50,000
Al 50,000
401 AIEHIZL S THYI 100,000 0 100,000
e 50,000
Al 50,000
01 A& H 100,000 0 100,000
OBz ASEAH MY
100,000,000& = 14| 100,000
S 50,000
Al 50,000
T SHEZZNE 23 3| 2,000 2,000 0
202 O4H| 2,000 2,000 0
01 = LHAObI 2,000 2,000 0
OZEYsUHEZZAHLE AIEFE Y
2,000,000& » 14! 2,000
SZANE &5 6,949,650 5,629,000 1,320,650
= 407,000
& 769,000
= 242,100
Al 5,531,550
wWSADR224H 70,000 310,000 A240,000
= 35,000

_21_




0z N>
J2

2.9 X EH . ClO (5 S AL . HA 2 Al OH HEE =2}
A 35,000
401 Al HIZ 20HYI 70,000 310,000 A 240,000
& 35,000
Al 35,000
01 Al &l 70,000 310,000 A 240,000
O nsSMIE2 AAEH & SAtdI
70,000,000& * 14 70,000
35,000
35,000
HelolBES YA ,658,000 1,332,000 326,000
734,000
924,000
401 A& HIZ 20HYI ,658,000 1,332,000 326,000
734,000
924,000
01 Al Hl ,638,000 1,327,000 311,000
OHE0IESRSEMH 948,000,000& * 14 948,000
719,000
229,000
O 0IESFAMA (' 1MEAAIHIDIRE)
690,000,000& * 14 690,000
03 AI& 2 0HHI 20,000 5,000 15,000
ONeloIES 2SN 20,000,000& * 14 20,000
15,000
5,000
TRUH=HEZFHI| 40,000 24,000 16,000
& 20,000
Al 20,000
401 AIEHIZ 20HYI 40,000 24,000 16,000
= 20,000
Al 20,000
01 Al &l 40,000 24,000 16,000
Oz=2RU=a&dF| 40,000,000& * 14 40,000
& 20,000
Al 20,000
RS HEAL WESEXSA 400,000 0 400,000
401 Al HIZL 2 0HYI 400,000 0 400,000
01 Al &l 400,000 0 400,000
ORAs nLEX(220s52H)
400,000,000 = 14] 400,000
HAH @F2 s EZEBA 80,000 0 80,000
401 AIEHIZ 2 0HYBI 80,000 0 80,000
01 Al & Hl 80,000 0 80,000
OEl s2Z3(AsHH)
80,000,000& » 14 80,000
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A= ALEAR SN AL
3 CRUEY AF(+3LUS/E2)
D E2AE =25 (e & e
_ = AT
= 2N 33X - HAGA) - MEAY - BES O &t o Ol AF o8 Hns2
20 ©FB W HXBA 100,000 0 100,000
401 AlEHI LSO 100,000 0 100,000
01 Al&H 100,000 0 100,000
OLsSY SAS 4D &3
100,000,0002 * 14! 100,000
2Ee-2Hnd T2 300,000 0 300,000
401 Al EHI LS LI 300,000 0 300,000
01 Al&HI 300,000 0 300,000
OZsg~-sgdiu =2y
300,000,0002 * 14l 300,000
HZO SetA WUEZ SHETTA 120,000 0 120,000
401 AlEHI LSO 120,000 0 120,000
01 Al&H] 120,000 0 120,000
Oi=g Setat JYZ ST FZA
120,000,0008 * 14! 120,000
2O SHALE QI T HIB A 200,000 0 200,000
401 AlEHIZL 2T 200,000 0 200,000
01 Al&H] 200,000 0 200,000
Ot SHALE A=HHl SA
200,000,0002 * 14! 200,000
L ZASR HFBA 80,000 0 80,000
401 Al EHI LSO 80,000 0 80,000
01 Al&H 80,000 0 80,000
OZE SYEZ =ZIT AL 80,000,0008 * 141 80,000
SH&0I0tS SHAIE S A 100,000 0 100,000
401 AlEHI L 2T 100,000 0 100,000
01 Al&H] 100,000 0 100,000
Odi&toItt2 SUHAIE SAt
100,000,0002 * 14! 100,000
ENS 38 ASHUIALY 100,000 0 100,000
401 AlEHI L2 100,000 0 100,000
01 Al&H 100,000 0 100,000
OEHS 38 A= HH At
100,000,0002 * 14! 100,000
EY2E FHUYI A T2EH| A 100,000 0 100,000
401 AlEHI LSO 100,000 0 100,000
01 Al&H 100,000 0 100,000
Oxdes FHUIX A C2HHIAMS (SUES
~EHd) 100,000,0002 * 14! 100,000
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A= A48AR SN AL
M CRUEY HE (Y c2)
P ERAE #E el HE
5 I A E
SN -3 S2ARA) - MFAY - BES &k oY Ofl At ot s
AEYS 22 0T s 100,000 100,000
401 Al HIZL 2O 100,000 100,000
01 A& 100,000 100,000
Ogsds 22 B2 DHSA
100,000,000& * 141 100,000
SE22-FEY TETHIZ 70,000 70,000
401 Al HIZL ST 70,000 70,000
01 Al&H 70,000 70,000
OS22-=E=2 T2FH|l SA
70,000,0008 * 14l 70,000
HRY S| SEHHISA 100,000 100,000
401 Al EHIZL ST 100,000 100,000
01 Al&H 100,000 100,000
og=e sl ZHl B A
100,000,0008 * 14l 100,000
ANEE Y ZEIZA 200,000 200,000
401 Al HIZL S OHHI 200,000 200,000
01 Al&H 200,000 200,000
OAEE Hg ZEIZ A 200,000,0008 * 141 200,000
Li3el OtSsl2 Y2 HESA 100,000 100,000
401 Al HIZL S THHI 100,000 100,000
01 Al&H] 100,000 100,000
O&Lh3el o238l UTZ HESA
100,000,0008 * 14l 100,000
Tael djelE FXE L ASHE ZA 200,000 200,000
= 100,000
Al 100,000
401 Al HIZL S THHI 200,000 200,000
= 100,000
Al 100,000
01 Al&H 200,000 200,000
OTatel YHelE =AU L AT HHISA
00,000,0008 * 14} 200,000
= 100,000
Al 100,000
slel 48 s2=EX 3 70,000 70,000
401 Al HIZL 2 70,000 70,000
01 Al&H 70,000 70,000
O&8el 48 sZEHET ZA
70,000,000& * 14l 70,000
SR S g ¢ UMY 200,000 200,000
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0z N>
J2

14822 S ALY
RNEY HE(LLLYDE/T2)
CRAL B2

- _ _ pSNE e
2N E3H - S2(SH) - NEAMYE - BES ot '@Egj HusZ
401 AIEHIZL 20| 200,000 0 200,000
01 Al &I 200,000 0 200,000
O2CLR T2z L HUIAY
200,000,000& * 14 200,000
M)A olTmeRE ALY 2,559,650 2,695,000 A 135,350
= 407,000
= 122,100
Al 2,030,550
201 82| 30,000 0 30,000
01 At22t2|dl 30,000 0 30,000
O=E2= ME & ol 10,000,000& = 14 10,000
OL72a4Y| 20,000,000 * 14 20,000
207 A ROHEH| 48,000 0 48,000
01 2 ESH| 20,000 0 20,000
OXNEAN =28 a2 M
20,000,000 * 14 20,000
02 & AHJH | 28,000 0 28,000
OX&EH EMHIA 2= 28,000,000& * 14 28,000
307 212+01 A 10,000 0 10,000
02 QIZHFAE X 10,000 0 10,000
ONEAN 282 ¥ HENE FE
10,000,000& * 14 10,000
401 Al EHIZ 2] 2,471,650 2,695,000 A223,350
= 407,000
& 122,100
Al 1,942,550
01 Al &HI 2,451,650 2,675,000 A223,350
OXMNEHOIZ 2 RAFA A A
112,500,000& * 14 112,500
= 25,000
& 7,500
Al 80,000
OXMNEAHOIZ 2= Z A
968,500,000 * 14 968,500
= 377,000
= 113,100
Al 478,400
OXENAZIIREZ A ('10E AIHIOIE )
1,370,650,000& * 14 1,370,650
03 Al 20HHI 20,000 20,000 0
OXEAHI IS 20,000,000& * 14 20,000
= 5,000
= 1,500
Al 13,500
HHEZ SI9ZH| 2,000 2,000 0
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SEREPECE A AL
3 CRUEY AF(+3LUS/E2)
el EZAE =3 (9 E2
= SN H2A(SH) - MRAIY - BHES e a4 Hlw &2
= * T R B i o ) ° - = e e =5 O:H{ﬂ,% Lsa
202 odl 2,000 2,000 0
01 2401 H] 2,000 2,000 0
OXNENEZ AMAFA 2,000,000 = 14 2,000
ME QIRoH A 1,700,000 1,775,000 AT75,000
OIME DIRANANM(SHS) 1,700,000 1,775,000 A75,000
401 A& HIZ 201 1,700,000 1,775,000 A75,000
01 Al£HI 1,700,000 1,775,000 AT75,000
OF MO RGH A AL
1,700,000,000& *» 14 1,700,000
T2 RN (+35LWE/EZ2) 3,420,056 2,494,270 925,786
Y sHEEZZ FANES 900,000 900,000 0
T 2 sHEEZ FANES 500,000 500,000 0
401 Al HIZL 2 0HYI 500,000 500,000 0
01 Al &l 485,000 497,000 A 12,000
O=2 2 Hge SXE4
485,000,000& * 14 485,000
03 AI& 2 0HHI 15,000 3,000 12,000
Oz ¢ HEH X2+
15,000,000& * 14l 15,000
T ¥ s0HEkz 012284 200,000 200,000 0
401 AIEHIZ 20HYI 200,000 200,000 0
01 Al &l 200,000 200,000 0
O=g=d 2 X224 200,000,0003 » 14| 200,000
ZHEH ESSA 200,000 200,000 0
401 Al HIZL 2 0HYI 200,000 200,000 0
01 Al &l 195,000 200,000 A5,000
OHBIEE U LAY AL
195,000,000& * 14 195,000
03 AI& 201l 5,000 0 5,000
OYHES & YAYUIAIL
5,000,000& * 14 5,000
Z 3| ,356,256 838,770 517,486
LR SSHALS 500,000 0 500,000
401 AIEHIZ 20HYHI 500,000 0 500,000
01 Al & Hl 500,000 0 500,000
OFEXNESHELZ) 500,000,000& * 14 500,000
X E2FH L B 224,256 216,770 7,486
101 21| 24,256 16,770 7,486
04 JI2HH 22 NS ES 24,256 16,770 7,486
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04 Nz

che|:

2 ALEH
B TR SI(2YDE/T2)
SRl T2 3|

nx
=]

A2 RN BB RS - MM - BES sk oy e 2
O&EzH H=&=d 24,256
ooy 44,2008 * 42 + 0% * 135 22,984
c1EEH 22,894,000& * 1.95% 447
oM EH 22,894,000& * 3.6% 825
401 A& HIZ 2 CHYI 200,000 200,000 0
01 A& HI 200,000 200,000 0
OSSR B4, INST| S B2TA
200,000,000& * 14 200,000
C2EXEEY 100,000 100,000 0
401 A& Bl 2 CHHI 100,000 100,000 0
01 A& HI 100,000 100,000 0
O 2 HXE &l 100,000,000& * 1A 100,000
g SN 200,000 200,000 0
401 A& HIZ 2 CHYI 200,000 200,000 0
01 A& HI 200,000 200,000 0
OLZFngEs 5A 200,000,000& = 14 200,000
AHARANE(SE - NE)RXES 100,000 100,000 0
401 A& HIZ 20| 100,000 100,000 0
01 Al£Hl 100,000 100,000 0
O=s=2 2 MEE= 100,000,000& = 14 100,000
2 NEIYEH 29 30,000 20,000 10,000
401 Al Bl 2 CHYI 30,000 20,000 10,000
01 A& HI 30,000 20,000 10,000
Oug GHEMEIE JIZ2 XA A I
10,000,000& = 3IH A 30,000
L52d EXE 100,000 100,000 0
401 A& HIZ 2 CHYI 100,000 100,000 0
01 Al£Hl 100,000 100,000 0
OEXNY 248l 100,000,000& = 1A 100,000
WECHHAIEY FHHIAS 100,000 100,000 0
401 Al Bl 2 CHYI 100,000 100,000 0
01 A& HI 100,000 100,000 0
OQusSHEAIEdE X & 2=
100,000,000& = 14 100,000
T2 EH 293l 2,000 2,000 0
202 (44| 2,000 2,000 0
01 =2 A bl 2,000 2,000 0
OS2 FH|l At =& 0ddl 2,000,000& = 14 2,000
C2HE2el 1,163,800 755,500 408,300
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AEREPEEE SN ALD
B o2 gEl(+sUDNE/EE)
CZ2HE2e (ctel: &
- _ _ Muo
2. 2H B S(E) - HRAY - B 0l &k 24 e HlnE2
CENEHY 1,008,800 625,500 383,300
201 ZEt2FH| 336,200 271,000 65,200
01 AtR2tel 246,200 201,000 45,200
O=gl 4,200
oM&HY SAlHl
7,000 * 20H * 102 * 34 4,200
Oodxt= 242,000
SHIE&AHEI|H LIH(EZ)
15,000,000& * 150H 225,000
SHATAA LI LRH(DHOIH)
17,000,000  1CH 17,000
02 2324l 90,000 70,000 20,000
OAN&ZHIS X 90,000
oHAEH RS0 90,000,000& =+ 14 90,000
206 =l 122,600 245,500 A 122,900
01 M Z 4l 122,600 245,500 A 122,900
OtEEH & & S ME 425
50,000,000& * 14 50,000
O &AL 18,000& * 700m’ 12,600
ogses 250,000& * 102& 25,500
(OF = 95,000& * 100& 9,500
OAIX E2E2+& NI 25,000,000& * 14 25,000
305 a2 S 20,000 20,000 0
o1 i&a=s 20,000 20,000 0
ONM&EZY elztolTol that=
20,000,000& 14 20,000
401 A& HIZ 20 50,000 0 50,000
01 Al£HI 50,000 0 50,000
Og= UsaEI| &X 25,000,0008 2904 50,000
405 RHebFE S| 480,000 89,000 391,000
01 AL =S HEH| 480,000 89,000 391,000
O®rL=E ¥ 480,000,000& * 1CH 480,000
CRHNEHG(SHS) 85,000 130,000 A 45,000
201 et A | 85,000 74,000 11,000
01 AR 2teld| 60,000 54,000 6,000
OS¢Hs MExH(SAHl - ZHIYXE)
60,000,000 * 14 60,000
02 2324l 25,000 20,000 5,000
Osds Mz (sl & |=J4Hl )
5,000,000& = 14 25,000
ZALE Old SAt 70,000 0 70,000
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0z N>
J2

2.2 MO (B H) - NEAY - BHAH2 A} OH &EIE H =2
2 RA - FH - SR(BA) - MRAY - BYS i O] & o8 res
401 Al EHIZ RO Y] 70,000 0 70,000
01 Al£Hl 70,000 0 70,000
OHFAE 0l# 70,000,000& * 14! 70,000
St THOHOIEH (SSE MU /THL LT - 219) 5,253,544 14,573,094 A9,319,550
2,104,772
3,148,772
ot EHl 5,253,544 14,573,094 9,319,550
= 2,104,772
Al 3,148,772
o & XH off 01 2 At 591,000 4,877,000 4,286,000
401 Al EHIZ RO YI 591,000 4,877,000 4,286,000
01 Al£Hl 591,000 4,863,400 A4,272,400
OStd oAt (20118 01RE)
591,000,000& * 14| 591,000
2ot HHIAMEY 3,209,544 2,932,094 277,450
= 2,104,772
Al 1,104,772
401 AIEHIZ 2 THYI 3,209,544 2,932,094 277,450
2,104,772
1,104,772
01 A& H] 3,197,000 2,906,111 290,889
OAGHE A (L=3.5Km)  3,197,000,000& *1A! 3,197,000
= 2,098,500
Al 1,098,500
03 Al 2CHH] 12,544 25,983 A13,439
OAot&EHbI 12,544,000 * 14! 12,544
= 6,272
Al 6,272
Xgotd ot =& A 100,000 0 100,000
401 Al IR S HYI 100,000 0 100,000
01 A& H] 100,000 0 100,000
O=SAHX ZotA ==ofiCidl 100,000,000& * 14 100,000
otd, Aot HY DI=EX 24 100,000 100,000 0
401 Al HI R 20| 100,000 100,000 0
01 A& H] 100,000 100,000 0
Ootd , Aot OI2EA 24
100,000,000 = 14 100,000
MEHSHAE (G )SR|X 2 Lot (II&EM) s A2 330,000 150,000 180,000
el
101 el 8l 30,000 0 30,000
04 D12 H22 NS 30,000 0 30,000
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0z N>
J2

= =] X XH ol (s = AH v OH I‘—-IL'EL‘:— =2}
= - 2M - FH - SA2AH) - MRAY - B &hoh Ol Ak O e
OMZAS HZXe or=el
30,000,0008 * 14! 30,000
401 Al S HIL =2 O H| 300,000 150,000 150,000
01 Al tl 300,000 150,000 150,000
OJIEH SXE4 4004
300,000,000% * 14! 300,000
GHE - AGHE JHl & 2oH0IY ALY 120,000 110,000 10,000
201 2Bre Y| 20,000 10,000 10,000
01 Ak 22l 20,000 10,000 10,000
Ost& el ZUIYXE  20,000,0008 * 14! 20,000
401 Al S HIL 2O H| 100,000 100,000 0
01 A& 100,000 100,000 0
Ost&EA5HE |24 L Hy|
100,000,008 * 14! 100,000
GHEl AGHELH BIRTHA AN 200,000 200,000 0
401 Al S HIL 2O H| 200,000 200,000 0
01 Al Hl 200,000 200,000 0
OB, 26t & BIRTH LAY
200,000,008 * 14! 200,000
MEE MY S0 HZ AL 200,000 0 200,000
401 Al SHIL 2O H| 200,000 0 200,000
01 Al& | 200,000 0 200,000
OANEE MY =012 AZAY
200,000,000% * 14! 200,000
IR gZ2l WRME ¥ S| 100,000 0 100,000
401 Al SHIL 2O 100,000 0 100,000
01 A&l 100,000 0 100,000
ONZH E=el WRME ¢ S|
100,000,0008 * 14! 100,000
OHE, AGHY A Matdh ¥ NHZE DAl 89 300,000 0 300,000
401 AlSHIL 2 THY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OBtE, ACHHNE ®Atst 2 NSEE 1
o 00,000, 00024 300,000
SHEFHl 2| 3,000 3,000 0
202 04 | 3,000 3,000 0
01 2UH 01| 3,000 3,000 0
O5HE HHIAI =X 3,000,0008 * 14 3,000
WY LB (SYHYL4/ 5 - 5E) 5,645,000 4,354,000 1,291,000
= 1,000




04 Nz

JL-Y

22N FB SRS  NBAY - BAS 0 & 24

=1

R

121
==
El
i
oy

3,414,000
71,000
2,159,000

= H o

o
1%
=
T
o
Of

r

2,078,000 1,442,000 636,000
1,000
1,514,000
71,000
492,000

= o H

EPRLES Y| P goa! 1,169,000 424,000 745,000
935,000
71,000
163,000

= H o

401 AIEHIZ 2O Y| 1,169,000 424,000 745,000
935,000
71,000
163,000

= H1 0¥

01 A& H 1,159,000 414,000 745,000
OYIIBHE AL (DS 7)
1,159,000,000& = 14 1,159,000

927,000
70,400
161,600
03 A& 201 10,000 10,000 0
OEgJIerE A 10,000,000& = 14| 10,000
8,000
600
1,400

= H o

= H o

JIHEAZ S LI A

R

432,000 478,000 A46,000
= 302,000
Al 130,000

401 Al EHIZ 2O YI 216,000 239,000 A 23,000
= 151,000
Al 65,000

01 A& H 216,000 239,000 223,000
O JIASEH=Z S ZAHL=2.0Km)
216,000,000& = 14 216,000

= 151,000
Al 65,000

Qa
>

403 A+XI A

on

>

A201& 216,000 239,000 223,000
= 151,000
Al 65,000

r

02 ZJ| 2SO0l CHeHCH &l AL I 216,000 239,000 23,000
OJIAStZEZ SLE ZAHL=2.0Km)
216,000,000& = 14| 216,000

151,000
65,000

02
>

o

= 0

O
e
0z
]
0o

I ALY 396,000 440,000 244,000
277,000

1]

]
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A2 AesA= SN AL
HE: =9 Y YSHSPHYLL/5Y - 5&)
Sl 25 (el &2
_ . HEC
= 2N B OR(3) - MRAY - BES Ofl AF o4 Sl ko HRE2

A 719,000

401 AIEHIZ 2O Y| 396,000 440,000 A44,000
= 277,000
Al 119,000

01 Al Hl 396,000 440,000 A44,000
sEEIHE SAHl 396,000,000& = 14 396,000
= 277,000
Al 119,000

SYHE AYIE LAY 30,000 0 30,000

401 AIEHIZL 20 Y| 30,000 0 30,000

01 Al€Hl 30,000 0 30,000
SeE ASDF 4L 1,000,002 + 303 30,000

S LEHEO| S LS A 50,000 0 50,000

401 A& HIS 2 CHYI 50,000 0 50,000

01 Al& 8] 50,000 0 50,000
O34k BHE0] S0 50,000,000 » 14l 50,000

122STAMEEAN 24 =X N 1,000 0 1,000
2 1,000

401 Al EHIZ 2 0hY| 1,000 0 1,000
= 1,000

03 A& S0 1,000 0 1,000
O=FMAat AEHZAHHI 1,000,000& * 14 1,000
= 1,000

SHAE =R 2 554,000 354,000 200,000

SHAIE QIR A 500,000 300,000 200,000

401 A& HIZ 2 0HHI 300,000 200,000 100,000

01 Al€Hl 300,000 200,000 100,000

£PANLNSS L DA LA

300,000,000& * 14 300,000

403 At XSS XH=01 & 200,000 100,000 100,000

02 S| 2SOl CHEHCH & A I 200,000 100,000 100,000
O%2lAld N+ 200,000,0002 * 14} 200,000

2E 2 2=FH 7A2a 51,000 51,000 0

201 Et2dd| 21,000 21,000 0

01 AR 22l 16,000 16,000 0
Oougag2dA 100,000 * 604 A 6,000
OXlot= Se&HEEIL 2,000,000& * 5JH 2 10,000

02 32244 5,000 5,000 0
04Tl «2l 5,000,000 * 14} 5,000

401 A& HIS 2 CHYI 30,000 30,000 0

_32_




0z N>
J2

M- - 2(3H) - H2AY - HES AFOH HdEAE —
= iy o L) TNIs oS =5 &= 04| AFOH S o
01 Al &l 30,000 30,000 0
Oty = 600,000& * 50JH 2 30,000
soAg saBe ey 3,000 3,000 0
202 Odl 3,000 3,000 0
01 =2LHOMHI 3,000 3,000 0
OsgANEgA 2 AFLSF=E (|
3,000,000& * 14 3,000
MESIZFZHIAY 3,013,000 2,558,000 455,000
,900,000
, 113,000
SEZFD|ete=E ,013,000 2,359,000 654,000
,900,000
, 113,000
401 Al HIZ 2] ,013,000 2,359,000 654,000
,900,000
, 113,000
01 Al &l ,993,000 2,324,000 669,000
sEE 2,194,000,000& * 14| , 194,000
= ,886,000
Al 308,000
O=s&% ("11TEAIBIOIRE)
799,000,000& * 14] 799,000
03 Al 20 20,000 35,000 A 15,000
O=s&3% 20,000,000& * 14 20,000
& 14,000
Al 6,000
H(2ELX 565,802 425,441 140,361
HE 29 565,802 425,441 140,361
g4y =& 137,953 63,000 74,953
101 212 d| 5,573 5,160 413
04 J|2tHI2 2 5,573 5, 160 413
SHAE ol 24 H| 5,573
ool 44,2003 * 3 = 400l 5,304
cNESRERYS 5,304,000& = 1.95% 104
oMIEHREZS 5,304,000& = 3.1% 165
201 Yere | 132,380 57,840 74,540
01 At 2teltl 43,780 11,840 31,940
Ot | 6,500
o= SIl==x=5  100,000& * 20Z X| 2,000
o= M =272 300,000& * 15X 4,500
ozgds¢ 7,280
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A= ALBAR SN AED
HE: AU (ZELXANL /N ALEAI)
ALY 29 (25l &2
- _ _ Muo
AR .2 (FH) - NRAY - BAES Ao il b o bRz
SHEIIAHEl LR 6,000,008 * 14] 6,000
02 B2 91,980 91,980 0
02223 % Al 6,780
SHEIIN HH AAE 60,0002 * 7CH 420
cA&I|N 2EE 700,008 * 8CH 5,600
cHEIN BAMH 2L S
95,0002 * 4CH * 23l 760
ON&ZEIRN Y] 85,200
cAMTY RSB 53,200
- AEFHI(BH) REM
4,750 4+ 8CH * 1,4002! 53,200
oEFHl R 32,000
CHETYI(80) S LRX
4,000,0002 * 8CH 32,000
BTAYS 29 147,649 69,661 77,968
o121 bl 13,329 12,341 988
SE EEPIETER 13,329 12,341 983
OBEALS 2202y 3,329
ol &2 44,2002 + 2302 * 1% 10, 166
S 44,2002 * 462 * 1% 2,034
oo xiAg 44,2008 * 112 * 12 487
Sk} 12,687,0002! * 1.95% 248
o ATl 12,687,000 * 3.1% 394
sty 9,320 6,920 2,400
NI 1,360 1,360 0
O =yl 700
CHEALS22RY 222 M
10,0008 * 7% 700
ONSBARE 660,008 * 14 660
222yl 7,960 5,560 2,400
02223 % Al 2,360
CHETALS FJHASE L 2D
295,002 * 24 * 43] 2,360
oo 2 2,800
CEEIALS Uy oEY
20,0002 * 2)H4 * 70 2,800
SNEETTES 2,800
CHTALS ALY
200,008 * 24 * 23] 800
CMEALSCCTV ALK XYl
2,000,0008 * 14! 2,000
NEEE-ET 65,000 10,000 55,000
1 A& H] 65,000 10,000 55,000
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AdaHE A
2.8 MM (FH) - NBAIY - BHA= AF OH &EIE =
= e W) TNIs oS =5 &= 04| AFOH S o
OYdsl 24 EZA 15,000,000 * 14 15,000
OFZHES T2 AL
50,000,000& * 14 50,000
403 AtXI St S X201 A 60,000 40,000 20,000
02 SISO CHSCHE AF S I 60,000 40,000 20,000
OETHEE ANEE glEx
40,000,000 = 14] 40,000
OHEALS GFAE ZA
20,000,000& * 14 20,000
A4ME 2F 3| 45,200 49,000 A 3,800
202 0dl 42,700 46,300 A 3,600
01 =2LHOMHI 42,700 46,300 23,600
OALAT2I MAFE Kbl
4,900,000 * 14 4,900
OSHLEMNHERA K]
150,000& * 5% = 12& 9,000
OB SH=ZEA Gyl
150,000 * 4% » 12& 7,200
OdtA 2AIL@ Hl  150,000& *= 78 « 12& 12,600
OAHEIAHLA 04l 150,000& * 594 « 12& 9,000
203 R FAlH| 2,500 2,700 A 200
03 Al =X 25| 2,500 2,700 A 200
OHLdHZAIHFX 2,500,000& * 14 2,500
HY2HAH(AE D) (JIEHIIE) 345,028 347,771 N2,743
229l 305,628 308,371 AN2,743
S22 RAAHINEA 305,628 308,371 N2, 743
101 2124yl 305,628 308,371 AN2,743
03 RIAHLZ2Z2XNES 305,628 308,371 AN2,743
oJleas 98,529
ohA 1,069,720& = 19 = 12& 12,837
o104 1,169,750& * 29 = 12& 28,074
o154 1,200,360 * 49 » 12& 57,618
oJlg=g 24,402
obhd 1,639,720& * 19 = 200% 3,280
=104 1,739,750& = 29 = 200% 6,959
o154 1,770,360& * 4% » 200% 14,163
(OFSF=t =y 12,202
obH 1,639,720 * 1Y = 50% * 23| 1,640
=104 1,739,750 * 29 = 50% * 23| 3,480
o154 1,770,3603 * 49 » 50% * 23] 7,082
ONM & et 30,503
ohA 1,639,720& * 1 = 250% 4,100
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AMeHI SN AL
Y 2HZU(HLD)(JIEH/IIEH
eIzl
S - BB SR (B) - MIRAY - BES 01l &k o S
0f 4 o
=104 1,739,750 = 2H@ = 250% 8,699
o154 1,770,360 » 4H = 250% 17,704
(OFSELECS) 25,200
ocEE 6,720
- B2 Xt 40,0008 = 78 + 1.0 ~ 128 3,360
) 20,000& * 7H « 2.0 = 123 3,360
ocExYReE 90,000& * 7H = 123 7,560
oMATASTY 70,000& » 78 * 123 5,880
o M= 60,000& * 7 * 12& 5,040
O=cl= 4| 52,409
o Mg AlH| 160,000& * 78 = 12& 13,440
= JHH 2 2| 110,000& = 79 * 128 9,240
SRS 140,000& = 7 * 128 11,760
o HESOtd| 14,642
54 1,639,720& » 1% = 120% 1,968
104 1,739,750& * 2% « 120% 4,176
154 1,770,360& * 4% » 120% 8,498
o 2+AlY| 1,800& = 222 » 79 + 128 3,327
Oxl2f=H 10,205
SANZIAZRLE 12,1473 « 60AI2F « TH 5,102
o OfA2RH 4,049 * 20Al2t » 79 567
ocdXxts4 64,7914 = 78 » 10 4,536
OXHSHIEZ Y 2,784
oSt 51,990&* 7 * 0.3 » 43l 437
oS8 419,090 * 7E = 0.2 * 43| 2,347
OM=sdAt X233 50,000& * 7 * 23| 700
o1ul=yl 2,800
oMA=Q| 53 100,000& * 7H = 43| 2,800
O=bcz 2= 256,234,000 * 4.5% 11,531
OHZEE 23 256,234,000& * 2.82% 7,226
OLeEIAEE 23
7,226,000& * 6.55% 474
OnEEEE 256,234,000& * 1.95% 4,997
OMMEE = 256,234,000& = 3.6% 9,225
O EERES 63,0003 * 7Y 441
Oz 4atw=Hl 3,000,000 * 2H = 23] 12,000
=&l 39,400
Jl=23| 39,400 0
201 Lyt Y] 24,000 0
01 AR 2t eld| 24,000 0
Oget=gH| 11,400
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A= desy= SN AL
B #E2 A (D) (IEHIIE)
I (el a2
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
o A2 4| 2,420,008 * 14] 2,420
CHINRSE L ARIINLDE
3,000,0002! * 14! 3,000
oDIEH+ 2| 5,980,000 * 14| 5,980
SEEE 12,600
ollEgR A
7,008 * 158 = 102 = 128 12,600
202 01t 1,200 11,200 0
01 2LH0i 4] 11,200 11,200 0
OJl=gR+80iH| 11,200,008 * 141 11,200
203 &R E A M| 4,200 4,200 0
04 RN YRR 4,200 4,200 0
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geA=
e (RELKI
L]

2 A

- _ _ Muo
C2M - HB L SQ(BH) - NRAY - B il ot o =2
794,840 440,000 354,840
2 (ZELT N/ NSLSAI) 762,870 408,230 354,640
22| 171,400 83,900 £12,500
B(s01& - SA)FI 60,000 100,000 40,000
402 212X+ 0| H 60,000 100,000 40,000
NS EE 60,000 100,000 40,000
OVIF(SHE - SANFY 2,000,008 * 305 60,000
VEEIBIE 75,000 52,500 22,500
308 XHXIEHHI SO ® 75,000 52,500 22,500
05 KX Sl 2H & 75,000 52,500 22,500
SELESLP! =2
5,000,002 * 155 75,000
BEe E2HO0IN XL 600 600 0
202 01t 600 600 0
01 2UHOIH| 600 600 0
OB AT &S
150,008 * 2% * 23] 600
SEXNEYI bl 5,800 5,800 0
202 01t 5,800 5,800 0
01 2UHOIH| 5.800 5,800 0
oz™ L Fy Yexz
20,0002 * 29 * 1453] 5,800
B U LEOIR FRFY| 30,000 25,000 5,000
401 Al&HI L S THY| 30,000 25,000 5,000
01 AI&H] 29,400 24,500 4,900
OXASES 0. AHALE S
29,400,0002 * 14 29,400
03 Al & = CHH| 600 500 100
OXASES 0. AHALE &3
600,0002 * 141 600
Zeipe X 302,600 202,600 100,000
Zs=ene 302,600 202,600 100,000
202 01t 2,600 2,600 0
01 2UHOTY| 2,600 2,600 0
OZSFHUR2ANAY YREZ
20,0002 * 1303 2,600
402 212X+ 0| & 300,000 200,000 100,000
01 QIR ESE 300,000 200,000 100,000
oZsFeUNS 300,000,0002 * 14} 300,000
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A= ALBAR SN AED
HE: Fenp(FELXANL/NSLTAI)
D AEHI2Y (el &2
- _ _ Muo
C2M - HB L SQ(BH) - NRAY - B 0ff &+ o4 il b o bRz
#y2Y 283,870 21,730 267,140
SHI MU ARR 4,930 4,930 0
201 YEr2gY| 4,930 4,930 0
01 AtR 22l 4,930 4,930 0
osg+g 2,730
ofI#s| slolag 70,0008 * 13Y * 33 2,730
Osr4gY| 1,500
CAZANARHH A4S 1,500,008 * 14 1,500
o1l =yl 700
cEHAESE U HYASQH 2221
x 350,0002 * 23] 700
A=Y 2 AY) 14,000 16,800 A2,800
202 01b| 2,000 15,000 A3,000
01 201 b 12,000 15,000 23,000
OBl REZ 0| 12,000,002 * 14} 12,000
203 YR = H| 2,000 1,800 200
03 AIR{ =X @EZIH| 2,000 1,800 200
SEETEEESS 2,000,000 * 14} 2,000
SOLEME 21 269,940 0 269,940
201 YBregt| 13,440 0 13,440
01 AR 22l 13,440 0 13,440
OOLEME| RSI4Z 100,008 * 128 =43l 4,800
OOLEME PINS EA MY
180,009 * 123 43| 8,640
301 YErE A3 200,000 0 200,000
12 JIEH2 A3 200,000 0 200,000
OBTLAFRIQH(&2)HIS &4t
200,000,0002 * 14} 200,000
401 Al EHIL 2 TH Y| 56,500 0 56,500
01 Al& 8] 45,000 0 45,000
OOLEME AR AFINE Bt L BA(E)S
o | 43,000,002 = 14] 43,000
OEX 24| 2,000,008 * 14! 2,000
03 Al & = CHY| 11,500 0 1,500
2= ot 5,000,0008! * 14! 5,000
OEXSAABIIS 500,008 * 14 500
O4THL 2R 22
1,500,00020 * 13| * 4CHQI 2] 6,000
HH2AAY (AED])(OIEHIIE) 31,970 31,770 200
=Lt] 31,970 31,770 200
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AZ HEEAD =2
Y AL (A=) (IIEH/IIEH
Jl=&Hl (9 E2
2.2 B OS(E) - NRAY - BAS Aro CEE Hlm= 2
01l & o
Jl2&Z | 31,970 31,770 200
201 B2 HH| 18,970 18,970 0
01 AR 2teld| 18,970 18,970 0
Ogt=ZH| 14,770
cHFANREEZEH| 4,330,000& * 14 4,330
SAMNRININALEE 250,000& * 12& 3,000
oA 4Hl 120,000& = 123 1,440
o ZH XHAI = 5,000,000 & * 14 5,000
cAABEAM 1,000,000 * 14 1,000
O=&l 4,200
=JIZ2g:!
,000& = 5% * 10 = 12& 4,200
202 0ddl 8,800 8,800 0
01 =2 WA bl 8,800 8,800 0
oJ1ag 20,0003 = 20 * 22¢ 8,800
203 R =& 4,200 4,000 200
04 2EA2E 4,200 4,000 200
ORM2Z 4,200,000& * 14 4,200
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0z N>
2

N = 0l & AF & F Al A

H2H LAl EEREE)
- _ _ Muo
N-E3H S (2H) - MRAY - BES Off &F K Ofl At ot HusZ
1,542,410 1,666,757 A 124,347
2 164,000
= 56,800
Al 1,321,610
H(2ZES/N0) 401,701 330,379 71,322
2 45,000
= 11,800
Al 344,901
S8 ast 307, 150 240,250 66,900
2 28,000
Al 279, 150
& LHas 40,300 55,600 15,300
st o] 28,300 24,300 4,000
01 AtR 22l 12,400 10,400 2,000
OJl2HanY 222 M
3,000,008 * 14! 3,000
OBAZERN S22 N
3,000,008 * 14! 3,000
OToY +EABANS BH2Y
10,0009 * 4%  63] 2,400
OI1S014001 AFE YA 42
4,000,002 * 1Al 4,000

S22l 3,900 3,900 0
01501400122 08 =Xl 22l

300,0002 * 12 3,600
OBAIE HSHA 22 300,0002 * 14! 300
A2 2 H| 12,000 10,000 2,000
OSBTRABAL 2 1,000,0008 * 103 10,000
O 42t HH 100,0002! * 1074 1,000
OJI=8s 938 ZA2  200,0002 * 53| 1,000
206 TH 2l 5,000 9,300 A 4,300
CEE] 5,000 9,300 A 4,300
SIENGIEE A28 22 100,0002 * 2074 2,000
OS£+2R2HH =Hl 72 100,008 * 3074 3,000
301 YPB A 7,000 22,000 ~15,000
10 S AtAIHI 2 A2 7,000 7,000 0
OIS MOIL &A 100,0002! * 20 2,000
OstAolY ZSUsMA &4 00,0008 * 102 1,000
OB LAIALAL &4 DI2EQ1 01|
100,0002 * 10 1,000
ODRIAEIEEIIX 212+l 01|
100,000 * 10 1,000
OZ e 3| O &I} X BI2v0l Ol
100,00080 * 102 * 23] 2,000
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43 AgeA= SN M EDY

M NHSEEN(S#EES/AA)

ool U2 Wast (9 ®2
A2 =2 HH . (5 - MIEAIY - BHA2 O] Ak OH S Hn=2
== * T = o7l (= ° - = e e =5 O:H{ﬂ,% Lsa

S22 oAy 190,000 140,000 50,000
307 @12+0l & 190,000 140,000 50,000
02 QIHFAE X 190,000 140,000 50,000

OZEdH21addEgds 2

165,000,000& * 14 165,000
OUA=MBAT DALY S

25,000,000& = 14 25,000

MIICHIXIAAS 23 7,650 7,650 0
307 2I2tol A 7,650 7,650 0
03 AFRIEtHIE X = 7,650 7,650 0

OtZES ASIEH K& ALY
7,650,000& * 14 7,650

NHASIS MU ASAME 293 13,200 13,000 200
202 0dl 11,200 11,200 0
01 2L bI 11,200 11,200 0

OB AHFZE 0] 933,300& = 12& 11,200
203 B2 =&ld| 2,000 1,800 200
03 Al F=AH R FEY| 2,000 1,800 200
OstZ 2R AIMFX 2,000,000& * 14 2,000
ESALOIEN 29 32,000 0 32,000
= 16,000
Al 16,000
301 B2 &= 32,000 0 32,000
= 16,000
Al 16,000
12 J|Et2 &3 32,000 0 32,000
OHAZENMEHAU 2=
32,000,000& * 14 32,000
= 16,000
Al 16,000
Jeleld ¢4 24,000 24,000 0
= 12,000
Al 12,000
307 2I2tol ™ 24,000 24,000 0
= 12,000
Al 12,000
02 It B AE X 24,000 24,000 0
OIelAEE(O2H) EsXE
24,000,000 * 14 24,000
= 12,000
Al 12,000
OtMs=2eMAEH 94,551 90,129 4,422
= 17,000
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A= AMEZR SN MEHE
HE: NS BH(BBBS/NY)
OS2 ERAHEY Hel)
= - FSIE =
2 RA MO (BH) - MBAY - B2 Ak o 0l At o &
= 1,800
Al 65,751
OMES LS B 32,551 31,461 1,090
101 Q1 24t 15,151 14,061 1,090
04 JARZ2NS2 4 15, 151 14,061 1,090
OOMES PEAIY 2R Y 13,328
P 44,2009 * 1% * 2302 10, 166
o 44,2009 * 1% * 462 2,034
oo RtAg 44,2002 * 1% *112 487
oR¥E 640,6802 * 14 641
OOFM S 220/ 3T AMe) oIl 1,823
YRS 44,2008 * 208 %23l 1,768
L] 54,8002 * 1Al 55
206 M 2 bl 3,400 3,400 0
01 T2t 3,400 3,400 0
OOFMES210/2T] THRHI 2,400,000 * 1A 2,400
OOFMES PSFY 2L 1,000,002 * 1A 1,000
301 YerB A 14,000 14,000 0
12 JIEH2 42 14,000 14,000 0
ORNOIYSE NS ES24
20,0009 * 108 * 402 8,000
OOMES 25 L X ES24
20,0009 * 2% * 100 4,000
OYe,Lofel ADEAZ 10,0008 * 200% 2,000
OFMES X2 o} 24 28,000 27,000 1,000
= 8,400
Al 19,600
301 QB AE 28,000 27,000 1,000
= 8,400
Al 19,600
12 JIEH2 42 28,000 27,000 1,000
OOMES SHSIIHH 24
28,000,0002! * 14! 28,000
= 8,400
Al 19,600
OF 4 S S T & Ofl 2 Ab S 34,000 31,668 2,332
= 17,000
= 3,400
Al 13,600
402 212t 20| 34,000 31,668 2,332
= 17,000
= 3,400
Al 13,600
RS 34,000 31,668 2,332
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43 Hgez S MEEA

H: NHSFAEM(BEES/NA)

&2l OrsS2elMAEE (ctel &
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
== ° T iy o L) ° T NS oS =5 &= 04| AFOH U=sa

OO0t =21 oHofl 2 AHS 34,000,000& * 14 34,000
= 17,000
& 3,400
Al 13,600
LS AS N (BHES /Aol - &) 605,643 598,094 7,549
SHEAZSNA 496,152 473,152 23,000
OtSCt23t & Al DR 0| 193,076 166,952 26,124
101 2124 dl 111,932 98,728 13,204
04 J|12tHZ2E2NEES 111,932 98,728 13,204
O=sst&a Faae o2y 111,932
SRRt 44,200 » 8% = 230 81,328
oFFH 44,2003 + 89 * 46 16,266
oA Xtg 44,2003 + 89 » 11 3,890
SRk 10,448,000& = 14 10,448
201 L2 H| 81,144 68,224 12,920
01 At 22l | 54,014 50,014 4,000
Ost&EAEFHMT L 100,000& * 50& 5,000
Ot HoZ2F 2 45,0008 * 6004 27,000
OS=&E A AHHEX= HE
200,000& = 10= 2,000
OgelstdEa HHEXI= HE
100,000& * 307H 3,000
Ost#E=2EHESY HA
400& = 5,00000 * 18] 2,000
OO0l sst&EA Xt 15,014,000& * 14 15,014
02 332l 27,130 18,210 8,920
OIS
18& * 2,2002|E * 100JH A& 3,960
O3ss&E4A 2elRs Xl
270,000& + 71 * 13l 19,170
Ot st&EA 22l Xdl 1,000,000& * 43 4,000
SSsEAIISEL 164,000 200,000 A 36,000
401 AIEBIZ 20HYI 164,000 160,000 4,000
01 Al &l 164,000 160,000 4,000
O3S EA HE= 6,000,000 * 50 & 30,000
O3=stdE4 2122y 18,000,000& * 3JH A 54,000
Oz2H0lst&E A EHIE= 10,000,000& * 34 A 30,000
Os4el stEA = 50,000,000& * 1I9H2A 50,000
SEHAAAF2CI(S - H - S) 133,276 100,400 32,876
201 23| 133,276 91,120 42,156
01 At22teldl 9,400 9,400 0
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42 AxEH= S MENEA T
B FABALH(BALS/NGEE - 2F)
el SIEAZ3HA e
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I |,o-| A= 04|/\}0H In_-lln“j_“:_ H|j§3k
= iy o L) - = oS =5 &= 04| AFOH U=sa
OZBss&EY 4A2EF7Y
10,000& * 71004 = 12& 8,520
OZEsZY BAHBETY
110,000& * 8 A 880
02 3329l 123,876 81,720 42,156
O==stdd dIIe3 1,000,000& * 627 A 62,000
OZBS3EAY =523 800,000& * 62JH £ 49,600
OZBssEAY 22
18& * 11,0002IE * 62JH & 12,276
SIEAZSHEAIY 29 dh| 5,800 5,800 0
202 o4 1| 5,800 5,800 0
01 2LHOMHI 5,800 5,800 0
OstEAZEIMAE =& ol
5,800,000& * 14 5,800
=& EFNA 71,991 87,442 A 15,451
Qe - H=FIE 22 20,092 39,296 A19,204
101 2124 d| 10,792 10,476 316
M4 IIZtM22XNSES 10,792 10,476 316
OFstx datzae| el 10,792
oJlleagd 37,600& * 1 » 230 8,648
oxFFY 37,6003 = 1H = 46¢ 1,730
o\ Xtg 37,600& * 19 = 11 414
201 B8-23H| 9,300 8,800 500
01 At22t2| Yl 5,100 4,600 500
O83tx HACHUHE UM 80,000& » 30&+A 2,400
Odsx daZz ) X 2
220,000& = 108 2,200
OLH =+ =&ZA =58 50,000& = 102 500
02 2229l 4,200 4,200 0
OFslx HAUE Ruds2
350,000& = 12& 4,200
A F AL 46,099 42,346 3,753
101 21241l 18,091 17,200 891
4 I2tHM22XNSES 18,091 17,200 891
Ootd & S+ ERSHAH &Y 22 9,733
o 44,200 « 2094 = 10 8,840
oBEHE 892,840& * 14 893
OSZLIEAAN ¥ ZNE=EY 22 8,358
o8 44,2003 + 180 * 14 7,956
oBda 401,770& = 14 402
201 et2HH| 13,068 10,706 2,362
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0z N>
-

= 2 e (=) = o
NASH(BABE/MAE - +3)
P

SN S (H) - HRAY - BAS 0f &t aia
iy o L) ° TNs a3 &= 04| AFOH
01 At 2teltl 10,668 8,546 2,122
Ogdt=2H| 7,468
ootd e =EHIAA =2
16,000& * 2900 = 12& 5,568
oll=ANZBA EESS 10,000& * 303 300
CEUIAE HArrE 800,000& * 24 1,600
ogxz 3,200
oSy SHHl Xt
800,000& * 43| 3,200
02 3329l 2,400 2,160 240
Ot 22 ZLIHY 100,000& * 123 1,200
O=&Z2Z YN &l 22| Xl
300,000& = 2CH = 23| 1,200
206 M Z 8l 14,440 14,440 0
01 M=l 14,440 14,440 0
O==ZZAME M98 2 3,000& * 1,000 3,000
Ox&2ZYX LHEE 7
100,000& * 10074 10,000
Ox=&=8&Hl AN 2 6,000& * 400H 240
OELL2ZZAE AIZHHE 2
6,000& = 2000H 1,200
405 RtakFE S| 500 0 500
01 AL S SFHSHI 500 0 500
OtZEXNcesg OXNEItnet 2
500,000& * 1CH 500
AEFMEAIE 2Z 3l 5,800 5,800 0
202 0dl 5,800 5,800 0
01 =LHOd B 5,800 5,800 0
O==Z2&eF& 0ol 5,800,000& * 14 5,800
Xl ot==2te| 37,500 37,500 0
ofl=QtE & 2t 2| 14,500 14,500 0
201 L2 IH| 14,500 14,500 0
01 AtR2tel bl 14,500 14,500 0
OXot=Z 222 AIAE RAES
10,000,000& = 14 10,000
OXst=2tel 28 g2 ME
900& = 5,000% 4,500
XIot HBHD| 20,000 20,000 0
401 A& HIZ 20HYI 20,000 20,000 0
01 Al &I 20,000 20,000 0
OXdts XS (2E3) Fa=7
2,000,000& = 10= 20,000
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Ao HEEE= M MEfEZE D
M FASALH(BEES /Mol &)
o2 XIote=22l (ctel &
- - _ PG ==
A= 2H - H - H2A(3H) - MIRAY - BHES Ol & @no” HusZ
K ot=2elAty 223l 3,000 3,000 0
202 0f 4l 3,000 3,000 0
01 2N HI 3,000 3,000 0
OXot=g 2 =& ol 3,000,000& * 14 3,000
ColeZ28& (385 /D) 511,666 714,884 ~203,218
= 119,000
= 45,000
Al 347,666
CHOI 2B 511,666 714,884 A~203,218
= 119,000
== 45,000
Al 347,666
olegd 22| 169,774 189,274 A 19,500
201 L2 IH| 8,774 13,774 5,000
01 At 2teltl 5,000 10,000 /5,000
Ogbt4gH| 5,000
ciIIA2EFI FEEAM =2
500,000& = 4CH * 13l 2,000
oYU EEE M
2002 = 10,0000H 2,000
oXEAS HICIQHIOIZ !
10,0002 * 5004 500
oXHEMA=SHEI X P2
500,000& * 1&tA 500
02 2329l 3,774 3,774 0
(OINF=FJsIE=IN]s] 3,774
o NS AOHAHEICI? &Hl |/X
274,000& * 13| 274
oXSXMAZFEI| BHIRX
500,000 * 1CH 500
oHIXIEAI| EHHIKX 1,000,000& = 13 1,000
ocAZEHI| HHIKX 1,000,000& = 13 1,000
oAg8 Y NSk SSUNMEXNE XU
1,000,000& = 13 1,000
301 et A3 1,000 500 500
12 J|Et2 &2 1,000 500 500
ONH DTt tiEXe ADX B4
5,000& * 2009 1,000
401 Al HIL 2 CHHI 40,000 40,000 0
01 Al &l 40,000 40,000 0
Odlai &=l XA
40,000,000& * 14 40,000
402 QI2H X201 A 120,000 120,000 0

_61_




A= AMEZR SN MEHEZ D
HE: ISFSH(FB2S/00])
DO E R (S5 &2)
- _ _ Muo
- RN - F3H - SA(SA) - MRAY - BES Off &F K Ofl At ot Hws2
01 QIR =S 120,000 120,000 0
OBI#FEHIS KR ALY
120,000,008 + 141 120,000
s eI B 65,792 63,810 1,982
101 Q1248 15,792 15,330 462
04 JIAH22 XS24 15,792 15,330 462
OBEWLLLD AILSEA Q12
37,6002 * 212 * 102 * 23l 15,792
201 YEr2gy| 50,000 48,480 1,520
01 At 22| H] 12,000 12,000 0
OBAHHLLS DA 24
3,000,0008 * 43| 12,000
02 ZZ2H| 38,000 36,480 1,520
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= 50,000
Al 50,000
401 A2 HIL 2O HI 100,000 0 100,000
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01 AtR2telH 22,300 32,300 210,000
OsMAEEZA 248 la 7o
5,000& * 5002 * 33l 7,500
OSMAMTA S2HX HE
10,0008 * 1,000% 10,000
O=MAIME Al S2 DHAIHl 400,0008 * 122 4,800
02 32244 3,600 3,600 0
O=sMAS Al EHOIA FAl2e]
300,000& = 123 3,600
03 A2 EH 25,000 25,000 0
OsAE A /3E HA 5,000,000 * 22 10,000
O&ZJt MOILt, 28, 84ZEXE Hz
7,500,000& * 22 15,000
301 LB aE 9,120 9,120 0
10 BAIAHIEN S 9,120 9,120 0
O==2gos 23 20,000& = 1142 * 43| 9,120
SBHIIZANE HASEEAE 2,404,000 200,000 2,204,000
= 1,702,000
< 340,400
Al 361,600
403 XX SHHMSXH=0l & 2,404,000 0 2,404,000
= 1,702,000
S 340,400
Al 361,600
02 SISOl CHEHCH & AF I 2,404,000 0 2,404,000
OdIIZANEHASEHEIZ O
2,404,000,000& * 14 2,404,000
= 1,702,000
< 340,400
Al 361,600
ATHAEUHX XN ES ALY 358,000 0 358,000
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03 Al =X H 2= 3,000 3,600 A 600
O=MEZCA CUAE 27
3,000,000& » 14 3,000
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Jl2ZHI (=sHS A 13,600 14,400 A 800
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cNESPHEZ 11,492,000& * 1.95% 225
201 82| 7,800 9,300 A 1,500
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